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After Noon Shift (General Intelligence)

QID : 126 - In the following question, select the related word pair from the given alternatives.
Hospital : Treatment::?:?

Options:

1) Product : Production
2) Government : Country
3) Justice : Court

4) School : Education

Correct Answer: School : Education

QID : 127 - In the following question, select the related number from the given alternatives.
13:171::17:7?

Options:

1) 286

2) 289

3) 291

4) 294

Correct Answer: 291
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QID : 128 - In the following question, select the related letter/letters from the given alternatives.
PTR:NRP::WTV:?

Options:
1) YVX
2) YVZ
3) URT
4) UQT

Correct Answer: URT

QID : 129 - In the following question, select the odd word from the given alternatives.
Options:

1) West

2) Direction

3) South

4) South —West

Correct Answer: Direction

QID : 130 - In the following question, four number pairs are given. The number on left side of (-) is related to
the number on the right side of () with some Logic/Rule/Relation. Three are similar on basis of same
Logic/Rule/Relation. Select the odd one out from the given alternatives.

Options:

1) 23-24

2) 25-26

3) 27-28

4) 29 -27

Correct Answer: 29 — 27

QID : 131 - In the following question, select the odd letter/letters from the given alternatives.
Options:

1) SRQP

2) JIHG

3) VUTS

4) ZYXV

Correct Answer: ZYXV
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QID : 132 - Arrange the given words in the sequence in which they occur in the dictionary.
1. Dispel

2. Dispute

3. Distinct

4. Dissent

5. Disrupt

Options:

1) 35412

2) 15342

3) 23415

4) 12543

Correct Answer: 12543

QID : 133 - In the following question, select the missing number from the given series.
15, 21, 28, 34, ?, 47

Options:
1) 41
2) 40
3) 44
4) 43

Correct Answer: 41

QID : 134 - A series is given with one term missing. Select the correct alternative from the given ones that will
complete the series.

D,G K,NR,?,?B,F

Options:

1) U,z

2) U Y

3) X, Z

4 T,Z

Correct Answer: U, Y

QID : 135 - Rajnish walks 35 km towards north. He turns left and walks 20 km. He turns left and walks 35 km.

How far (in km) is he now from his starting point?
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Options:
1) 25
2) 90
3) 20
4) 10V2

Correct Answer: 20

QID : 136 - From the given alternatives, select the word which CANNOT be formed using the letters of the

given word.
Nightingales

Options:
1) Nine
2) Gales
3) Eight
4) Novel

Correct Answer: Novel

QID : 137 - In a certain code language, “TALCS” is written as “UENCV”. How is “SPARK” written in that code
language?

Options:

1) HRVTN

2) MTCRU

3) MTCSV

4) MAMTR

Correct Answer: MTCRU

QID : 138 - In a certain code language, '-' represents '+, '+' represents 'X, X' represents '+ and '+' represents '-

". Find out the answer to the following question.
2+12-6+20x4="?

Options:

1) 40

2) 1

3) 20

4) 43

Correct Answer: 20
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QID : 139 - The following equation is incorrect. Which two signs should be interchanged to correct the

equation?
18x12-6+5+4=35

Options:

1) +and x
2) +and +
3) -and +
4) +and -

Correct Answer: + and -

QID : 140 - If 8*9 = 36, 12*4 = 24 and 14*6 = 42, then find the value of 18*6 = ?
Options:
1) 14

2) 54
3) 44
4) 2

Correct Answer: 54

QID : 141 - Which of the following terms follows the trend of the given list?

AABAAAA, BAAAAAA, AAAAABA, AAABAAA, ABAAAAA,

Options:
1) AAAABAA

2) AABAAAA
3) BAAAAAA
4) AAAAAAB

Correct Answer: AAAAAAB

QID : 142 - A goods carrier travels 23 km East, then it turns North and travels 15 km, then it turns West and
Travels 38 km, then it turns to its left and travels 15 km. Where is it now with reference to its starting position?
00 000 0000 00000 00 00 23 00.00. 000000 0000 U0, 000 00 00000 00 0oo gog
0000 0000400015 00.00. 00 000000 0ooo 0o, 000 00 000000 00 D00 000 ooog 0og
00 000 38 00.00. 00 000000 0000 0d, 000 00 0000 0000 00 000 0000 0o 0o oog 15

go.00. oo bogoob oo oo bo o0 oo Dobboooob booobb o boobbo Doo oboo
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oo?

Options:

1) 61 km West
2) 15 km East
3) 61 km East
4) 15 km West

Correct Answer: 15 km West

QID : 143 - In the question two statements are given, followed by two conclusions, | and Il. You have to
consider the statements to be true even if it seems to be at variance from commonly known facts. You have to
decide which of the given conclusions, if any, follows from the given statements.

Statement I: All brushes are brooms

Statement II: All mops are brushes

Conclusion I: All brooms are mops

Conclusion II: All mops are brooms

Options:

1) Only conclusion | follows

2) Only conclusion Il follows

3) Both conclusions | and Il follow

4) Neither conclusion | nor conclusion Il follows

Correct Answer: Only conclusion Il follows

QID : 144 -
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In the following figure, rectangle represents Dieticians, circle
represents Floral designers, triangle represents Gardeners and
square represents Asians. Which set of letters represents Floral
designers who are not Gardeners?

friioidd ¥@id A ¥9d WER v @ gl & g
Ied O gt &1 YR el ¢, e a1 el el @
3R oRe A @ geRia & gl R A W e 3
7o e & el el ¢ S awa ag) 87

G
K
AB&
=
C|J|

Options:
1) BKH
2) ABC
3) DEF
4) GHI

Correct Answer: DEF

QID : 145 - A series is given with one term missing. Select the correct alternative from the given ones that will
complete the series.

PMA, RPE, TSI, VVM, ?

Options:

1) YZR

2) VWO

3) XYQ

4) ACS
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Correct Answer: XYQ

QID : 146 - In the following question, select the missing number from the given series.
67, 80, 93, ?, 119, 132

Options:
1) 108
2) 106
3) 114
4) 112

Correct Answer: 106

QID : 147 - In the following question, four groups of three numbers are given. In each group the second and
third number are related to the first number by a Logic/Rule/Relation. Three are similar on basis of same
Logic/Rule/Relation. Select the odd one out from the given alternatives.

Options:

1) (4, 16, 64)

2) (5, 25, 125)

3) (6, 36, 216)

4) (7,49, 243)

Correct Answer: (7, 49, 243)

Candidate Answer: (4, 16, 64)

QID : 148 -
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If a mirror is placed on the line MN, then
which of the answer figures is the right
image of the given figure?

afe T gyor @ MN @1 9 I@T S0 ar &
I ek IMRIAAT H F HiT-HT IR Tt
3Mpfd &1 T gfafars graf?

S

Options:
1)

2)

3)
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4)

$

Correct Answer:

QID : 149 -
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Which of the following cube in the answer
figure cannot be made based on the unfolded

cube in the question figure?

fFfaf@d 3t 3mhfad & & i @1 g U
AT YA HPfd A & ol OeT F AT gl

ST HeBaT? O
2| O] ¢ |1

Options:
1)

L

_|_<{Z

2)

3)
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Correct Answer:

QID : 150 -
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A word is represented by only one set of numbers as given in any one of the alternatives, The sets
of numbers given in the alternatives are represented by two classes of alphabets as shown in the
given two matrices. The columns and rows of Matrix- are numbered from 0 to 4 and that of Matrix-lI
are numbered from 5 to 9. A letter from these matrices can be represented first by its row and next by
its column, for example 'A' can be represented by 30, 41 etc and 'W' can be represented by 65, 97 etc.
Similarly, you have to identify the set for the word 'QUIZ

U e a0 UG HEA-Heg car gl g, o & fwedt A @ b o A
foar %1 fasret & R a0 Hew-wRg e § @ o qEw qufe e g, o
few v & ameggh # 71 3egE- & FR AR IR A w0 ¥ 4 3R gl &
5% 98 3 FRGE ¥ T MW A Gl 3qh I W a1 A F @0
gt o W g1 3gER0 & fov A # 30, 41 e qEN R N wHA § AW W
65, 97 3G gar gl o1 wEa §1 G @ @ R W A U g Quiz

& T g e g
Matrix | Matrix Il
HE -1 g -1
0 1 2 3 4 5 6 7 8 9
0 C F | K E 5 Y Q \' N (6]
1 C J G E J 6 W \Y U R X
2 E D L K F 7 T Q W ' T
3 A H B C M 8 \'J 6] R z 8]
B | A B G L 9 P U w Y (8]
Options:

1) 42,79,23,57
2) 24,86,20,85
3) 76,96,40,88
4) 31,78,34,88
Correct Answer: 76,96,40,88
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